			ANOVA			
				Statistics		
Depender	nt Variable	Sum of Squares	df	Mean Square	F	Sig.
Q1	Between Group	32.727	4	8.182	5.343	0
	Within Groups	238.875	156	1.531		
	Total	271.602	160			
Q2	Between Group	29.49	4	7.373	5.149	0.001
	Within Groups	223.354	156	1.432		
	Total	252.845	160			
Q3	Between Group	43.297	4	10.824	4.48	0.002
	Within Groups	376.951	156	2.416		
	Total	420.248	160			
Q4	Between Group	15.891	4	3.973	3.07	0.018
	Within Groups	201.886	156	1.294		
	Total	217.776	160			
Q5	Between Group	14.281	4	3.57	2.57	0.04
	Within Groups	216.713	156	1.389		
	Total	230.994	160			
Q6	Between Group	9.188	4	2.297	1.698	0.153
	Within Groups	211.073	156	1.353		
	Total	220.261	160			
Q7	Between Group	19.526	4	4.882	2.717	0.032
	Within Groups	280.25	156	1.796		
	Total	299.776	160			
Q8	Between Group	9.411	4	2.353	1.787	0.134
	Within Groups	205.372	156	1.316		
	Total	214.783	160			
Q9	Between Group	17.636	4	4.409	2.947	0.022
	Within Groups	233.396	156	1.496		
	Total	251.031	160			
Q10	Between Group	17.512	4	4.378	2.673	0.034
	Within Groups	255.519	156	1.638		

	Total	273.031	160			
Q11	Between Group	4.377	4	1.094	1.122	0.348
	Within Groups	152.12	156	0.975		
	Total	156.497	160			
Q12	Between Group	49.93	4	12.482	4.222	0.003
	Within Groups	461.176	156	2.956		
	Total	511.106	160			
Q13	Between Group	15.306	4	3.826	2.783	0.029
	Within Groups	214.496	156	1.375		
	Total	229.801	160			
Q14	Between Group	7.461	4	1.865	1.552	0.19
	Within Groups	187.532	156	1.202		
	Total	194.994	160			
Q15	Between Group	14.499	4	3.625	2.293	0.062
	Within Groups	246.607	156	1.581		
	Total	261.106	160			
Q16	Between Group	4.093	4	1.023	0.582	0.676
	Within Groups	274.155	156	1.757		
	Total	278.248	160			
Q17	Between Group	14.847	4	3.712	2.879	0.025
	Within Groups	201.128	156	1.289		
	Total	215.975	160			
Q18	Between Group	3.839	4	0.96	0.58	0.678
	Within Groups	258.136	156	1.655		
	Total	261.975	160			
Q19	Between Group	10.541	4	2.635	2.136	0.079
	Within Groups	192.49	156	1.234		
	Total	203.031	160			
Q20	Between Group	22.782	4	5.695	1.825	0.127
	Within Groups	486.771	156	3.12		
	Total	509.553	160			
Q21	Between Group	18.533	4	4.633	3.216	0.014

	Within Groups	224.747	156	1.441		
	Total	243.28	160			
Q22	Between Group	34.439	4	8.61	2.703	0.033
	Within Groups	496.94	156	3.186		
	Total	531.379	160			
Q23	Between Group	20.696	4	5.174	3.192	0.015
	Within Groups	252.869	156	1.621		
	Total	273.565	160			
Q24	Between Group	20.012	4	5.003	3.306	0.012
	Within Groups	236.05	156	1.513		
	Total	256.062	160			
Q25	Between Group	15.774	4	3.943	2.168	0.075
	Within Groups	283.779	156	1.819		
	Total	299.553	160			
Q26R	Between Group	16.045	4	4.011	1.382	0.243
	Within Groups	452.899	156	2.903		
	Total	468.944	160			
Q27R	Between Group	16.637	4	4.159	1.482	0.21
	Within Groups	437.859	156	2.807		
	Total	454.497	160			
Q28	Between Group	6.505	4	1.626	1.155	0.333
	Within Groups	219.619	156	1.408		
	Total	226.124	160			
Q29	Between Group	6.833	4	1.708	1.486	0.209
	Within Groups	179.292	156	1.149		
	Total	186.124	160			
Q30	Between Group	11.825	4	2.956	1.927	0.109
	Within Groups	239.293	156	1.534		
	Total	251.118	160			
Q31	Between Group	20.61	4	5.153	1.654	0.163
	Within Groups	485.887	156	3.115		
	Total	506.497	160			

Q32	Between Group	3.877	4	0.969	0.277	0.893
	Within Groups	546.074	156	3.5		
	Total	549.95	160			
Q33	Between Group	11.087	4	2.772	1.516	0.2
	Within Groups	285.322	156	1.829		
	Total	296.41	160			
Q34	Between Group	29.044	4	7.261	3.865	0.005
	Within Groups	293.081	156	1.879		
	Total	322.124	160			
Q35	Between Group	35.956	4	8.989	4.39	0.002
	Within Groups	319.435	156	2.048		
	Total	355.391	160			
Q36	Between Group	15.688	4	3.922	2.133	0.079
	Within Groups	286.871	156	1.839		
	Total	302.559	160			
Q37R	Between Group	8.038	4	2.01	0.631	0.641
	Within Groups	496.956	156	3.186		
	Total	504.994	160			
Q38R	Between Group	23.559	4	5.89	1.896	0.114
	Within Groups	484.652	156	3.107		
	Total	508.211	160			
Q39	Between Group	9.856	4	2.464	1.625	0.171
	Within Groups	236.492	156	1.516		
	Total	246.348	160			
Q40	Between Group	15.983	4	3.996	2.236	0.068
	Within Groups	278.775	156	1.787		
	Total	294.758	160			
Q41	Between Group	17.022	4	4.255	1.622	0.171
	Within Groups	409.214	156	2.623		
	Total	426.236	160			
Q42	Between Group	2.109	4	0.527	0.142	0.966
	Within Groups	577.953	156	3.705		

	Total	580.062	160			
Q43	Between Group	10.876	4	2.719	1.939	0.107
	Within Groups	218.726	156	1.402		
	Total	229.602	160			
Q44	Between Group	16.852	4	4.213	2.966	0.021
	Within Groups	221.558	156	1.42		
	Total	238.41	160			